WAKISSHA

MARKING GUIDE

Uganda Certificate of Education
MATHEMATICS 456/1

L | (x+5+x+2)(x+35-x-2) m, | Factors
=(2x+7)(3) 4,
m | C’s factors
=3(2x+7)=9 ;
2x+7 =3 =9
2x = -4
X==3
- 4 marks
& 2#]=2*-1.3 m,
9%x7 =9 -h=76 )
81-2=76
Z=81-76 -
=5
A
4 marks
; 360
3. Number of sides =—=20. ™
18 4
Sum of interior angle Accept of alternative
= (180-18)x20
=162x20 = 3240° m,
Al ;
4 marks
4. | 2x+5y=11 v
3x-y=8 x5 m,
2x+5y =11 _
15x—-5y =40 m, Accept of alternative
1 =31
x'=3 A
y=1 A
4 marks
5 2 9 4
-+ =
“4 b 5 5
2+a=4 ' " | Equation
a=2 A1
“4+b=>5 m, | Equation
b=9 4
(2.9)
4 marks
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6. -1 1 (2 2 m, Determinant
yi FM(S 9) m, a found
1 {2 2
K [8 9J m, | Simplification
B 1 1
_[4 4.5) 4
4 marks
T | et 30 ™
2 4
y=180-63 m \AC's 63
=117° m,
4 marks
8.
x h
12cm
1 m
5 x12h =60
12h=120
h=10cm "
Hypotonic = x* 1
x =122 +107 m,
=244 =15.62 4
; 4 marks
9. 14X2p+15Xp+16X10:15 m, | Expression
2p+p+10
28p+15p+160 _,
3p+10
43p+160=153p+15) m, | Simplification
43p+160=45p+150
2p =10. # Like terms
b=3 r
4 marks
10. !
+ |1 |2 |3 |4 |5 |6
1 |2 (3 |4 |5 |6 |7
2 |3 |4 |5 |6 [7 |8
3 14 |5 |6 |7 18 |9 B,
4 |5 |6 |7 |8 |9 |10
5 (6 |7 |8 |9 |10]11
6 |7 |8 |9 [10]11]12
© WAKISSHA

Page 2 of 6



n(s) 36 12 m,
A
4 Marks
SECTION B
11.

. Jal3]2l1]o]1[2]3]4
y=x+x-8 | 4 2 |-6|-8|-8|-6|-2]4 |12 B
gdmg x| ! B.
d .gi-2] 2|4 |4|2]|-2]|-8]-16
(b) refer to graph paper B, y=x" +x-8
(c) % =3 B, y=4-x-x
oy =2 B, from correct graph

12. | (a) The 4 x 4 matrix is

P (3 5 10 3

olo 0o 0 1

R |5 1 0 0

s 4 3 6 1 B,

(b) (1) The cost matrix

B 250,000

M 60,000

P 20,000 B,

MLT 70,000

(ii)

3 5 10 3 250.000

0 0 1 60.000

501 0| | 20.000 "

4 3 1 70.000

P 1,520,000

Q 90,000

R 1,310,000 A‘

S 1,390,000

He spent 1,520,000 at P B;
90,000 at Q B,
1,310,000 at R B;
1,390,000 at S B

(c) total spent

=1,525,000+90,000+1,310,000-+1,390,000 | M,

= 4,310,000 A
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marks ]

12
13. | Sketch B Sketch
Sy ElcH
5 B AB = 6cm
\ B; | BC = 10cm arc seen
~
g B, | ZBAC = 105" arc seen
- B: | Perpendicular on BC
. from A arc scen
B |pointP
B: |AB=3.9cm=0.l
A=) X5X39 Ml
Al
19.5=0.5 .
Bl} Perpendicular
BiJ | Bisectors on ABC
Bi | Radius=5.1%0.19
12 | marks
| !
| N
14. | (a)
1 B, | Sketch of PQR (on graph
| : " paper)
i i r _ft.
|‘ ¢ + g, ,, ; T TJ .’
1 “' B, 10 pl
| % : P' Q' R' on graph paper
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(b) Rotation through 180° (half turn) | B,
about the origin.
. (71 0 B
(¢) Matrix for half turn is (O _]J 2
(d) Matrix that maps PQR onto P" Q"
0 1 10
I
e (1) (o) "
N
oo
Matrix that maps P" Q" R tsade-on to
PQR 1s Ml.
IR TR O
) 10 4
15. | (a)
Whieia | F (?«n;:fi B; | Class mark
lesit [ & 12 B X —A
sl R Bi |Xf=50
D e e B Fd
Er SRR L I [ BV x
’ Bi |Xfd=110
|30 =B+ ] O Aa
Zar-ae | 2 33
qO -y [ 2 CFa
(v enl= "ho
Mean =27+ e
50
=27-22 M,
=24.8 o
(b) +*
T
o Boundaries
§ - Bars
i (Graph paper)
&
b —_—————
o+ |
-_J- Il
ATt 43 ME AT e N s
(c) Modal mark = 24.9%3.1 B;
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16. | (a) (c+d) (c-d) = 60 .
30(c-d) = 60 M, Factolea-tlon
M. | Substitution
| (c=d)=2.... (1) M]
|
| (c+d)=30..... (1) ’
2¢ = 32
c = 16
16-d=2 ﬁl
d=14 |
. 4
“(b) let r =rice, p = posho
3r+2p=10,000 / x2 M,
2r+3p=9,500 X3 M,
: 6r+4p=20,000 M,
- 6r+9p=28,500
5p=8,500 4
: = p=1700r
L 6r+4 x 1,700 = 20,000
6r + 6.800=20,000 M,
6r =13,200
r =2,200p A
12 | marks
17. | (a) The inequalities
50x + 75y = 600,000
5T e P, (1) B,
40,000x + 50,000 < 600,000
Ax +5 360 cvviinivs (11) B
X ST treieiereinaennns (ii1) B,
PR & on wwvnanimn pesnans (iV) B
6 -} e— graph paper
10x +135y =120 line shading B,
4x+5y=60 line shading B,
Y = x line and shading B,
Y = 7 line and shading ‘B
1
(¢) Minimum at (6, 4)
6 trips of truck A
4 trips of truck B B
‘Bl
12 | marks
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